Pasitive Integers | |Rounding to nearest 10 etc. 3) Decide if it stays or rounds up. Rounding to decimal places:
are whole 1) Identify the tens digit. 346 Use the units digit to decide.

numbers greater *5 or more rounds up”, s0 6 3%48 32|418 = 32

Sdh i 32b [The tens digt s 2,0r 20 | will round up 10 the next 10.

2) Work out the next ten up. 1=* dp Look at the next digit

Y8 Maths

Block 1-Number Sense

Addition and Subtraction Integer Rules ; 32|6“mw‘ 320 «¢330 326 — 330 3.2 4 stays down - stay ot 3.2.
hol
The rule gives the sign of the operation nuar:meb;soleess

EEle . Significant figures |
Numbers

when 2 signs are next to each other e cacs

6+ -3 If something is significant, it is big or important. The most
++ + + E 6 3'_ 3 Numerator = 1 R‘;’)Oundlng R‘)U'GS, significant thing is the biggest or most important thing.
- = ] + -10-+2 Denominator = 7 Flnd the numbgp ’ ?% 8 3268 rounded to 1 sig. fig.
- " s
-10-2=-12 L00k9 P'ght nGXt dOOf’. 3 is worth the most in this %268 3%68 — 3000
Tt ) (e ovses 5 or more? Y letne fressantbean tgwe. | I 320 |, iecenms et oo |
@ @ @ @ - %alse thg S(OF@! . T - y h 3000 2 is less than 5 - stay at 3000
| 2 is wo 2 hundred, and is the
3 or loss? S e 3268 rounded to 2 sig. fig.
Multiplying and Dividing Integers Rules e e 3268 32|?8—> 3300
; N Fere i B is wol units, anl is the 2 sf Look at the next digit.
5;32151—%\% b fI]E';;:;fngns 7 x-4=-78 Egur“rh r::dsleas: signi"jﬁcq:n | 3200 || 6 rounds up - go to 3300 |
-4=- igure.
@ @ ® @ -6 x-4=24 Example 1: 7 All other digits become a zero as
Find a common denominator X75 " 7Xs k they are not significant!
&4 . -35+ 5=-7 (Try multiplying each fraction by the 14 20 0|B Bmf =
+ - 40 + -8=5 denominator of the other): 35 35 2.‘/ I [Indices
.= - Example 2: =+~ | D | Division
Convert all fractions X|M |Multiplication | 1 CHEN 4 ) 6 8 910
into decimals 2+5=0.4 +| A | Addition ;
Divide numerator by denominator  5+7=0.57 -| S [Subtraction @ 12 14 15 16 18 @ 20
21 22 24 25 26 27 28 @ 30

Venn Diagrams

/[ Write the number 42 44 45 46 @48 49 50
40

51 52 @54 55 56 57 58 () 60

/\ /{ }/;/;t:rsany pair of
0 62 63 64 65 66 68 69 70

B A. /4\ o }\ Continue unti! all the
n Complemert of A e g Sl Q7r Qs 1576 11 78 D380
A : : B

The intersection is where two sets overlap.

AnB

This means A and B,

B . Prime Factorisation @32 33 34 35 36 @38 39 40

) T G W N

Tf you pu'r?wo sefs ;ogeTher, you get the
union. »
AUB

A B smallest to largest

= 2° x 5 in index form 91 92 93 94 95 96 (:7) 98 99100
A prime number is For example, 7 is a prime number because it has

This means A or B.

The complement of A is the region that is not @
A

40=2x2x2x5 < Witethefactors fom } 81 82 (7)84 85 86 87 88 D90

i a whole number only two factors: 7 and 1. Prime
- that has only
This means not A, B AU B AN B two factors: Numbers

7+7=1|and|72+1=17

Complement of B A union B A intersect B itself and 1.




